

MERSENNE PRIME FACTOR AND SUM OF BINOMIAL COEFFICIENTS[†]

GYE HWAN JO AND DAEYEOL KIM*

ABSTRACT. Let $M_p := 2^p - 1$ be a Mersenne prime. In this article, we find integers a, b, c, d, e and n satisfying $\sum_{t=0}^n \binom{an+b}{ct+d} = M_p e$ given a Mersenne prime number M_p . In order to find a special case that satisfies the above results, we reprove an well-known relation of a certain sum of binomial coefficients and a divisor function.

AMS Mathematics Subject Classification : 11A25, 05A10.

Key words and phrases : Mersenne prime, binomial coefficient.

1. Introduction

The study of divisor functions and binomial coefficients is important and diverse field in number theory. The sum of the l -th powers of the divisors of n will be denoted by $\sigma_l(n)$. The traditional results associated with divisor functions are [1], [7] and so on. Although Mersenne primes are closely related to perfect numbers, it can be seen that they are also useful for iteration of divisor functions [4]. We will examine the problem in this article by examining examples of whether the sum of any binomial coefficients includes a Mersenne prime. We can easily see that $\binom{5}{1} = 3 \times \frac{5}{3}$, $\binom{7}{2} = 7 \times \frac{7}{3}$, $\binom{11}{1} + \binom{11}{4} = 31 \times \frac{33}{3}$, $\binom{15}{0} + \binom{15}{3} + \binom{15}{6} = 127 \times \frac{129}{3}$ and $\binom{27}{0} + \binom{27}{3} + \binom{27}{6} + \binom{27}{9} + \binom{27}{12} = 8191 \times \frac{8193}{3}$. The sum of the binomial coefficients satisfying the above conditions was found by examining ten Mersenne primes using Mathematica 11.2. Since Mersenne primes themselves are very large numbers, we present only six Mersenne primes in Table 1. Based on these examples, we suggest the following question.

Question 1.1. *Given a Mersenne prime number M_p , can one find integers a, b, c, d, e and n such that $\sum_{t=0}^n \binom{an+b}{ct+d} = M_p e$?*

Received August 13, 2021. Revised October 27, 2021. Accepted December 7, 2021.

*Corresponding author.

[†]This work is supported by the National Research Foundation of Korea(NRF) grant funded by the Korea government(MSIT) (No. 2021R1F1A1051093).

© 2022 KSCAM.

p	M_p	e	$\sum_{t=0}^n \binom{an+b}{ct+d}$
3	7	3	$\sum_{t=0}^{\frac{3-2-1}{3}} \binom{2 \times 3 + 1}{3t+2}$
5	31	11	$\sum_{t=0}^{\frac{5-1-1}{3}} \binom{2 \times 5 + 1}{3t+1}$
7	127	43	$\sum_{t=0}^{\frac{7-0-1}{3}} \binom{2 \times 7 + 1}{3t}$
13	8191	2731	$\sum_{t=0}^{\frac{13-0-1}{3}} \binom{2 \times 13 + 1}{3t}$
17	131071	43691	$\sum_{t=0}^{\frac{17-1-1}{3}} \binom{2 \times 17 + 1}{3t+1}$
19	524287	174763	$\sum_{t=0}^{\frac{19-0-1}{3}} \binom{2 \times 19 + 1}{3t}$

TABLE 1. Six examples for sums of binomial coefficients.

The problem of completely solving Question 1.1 seems difficult. This article aims to find and prove the following special case that satisfies Question 1.1.

Theorem 1.2. *Let $i = 0, 1, 2$, let $M'_p := \frac{M_p+2}{3}$ and $p = 3n + 1 + i$. Then*

$$\sum_{t=0}^{\frac{p-i-1}{3}} \binom{2p+1}{3t+i} = M_p M'_p. \quad (1)$$

If $i = 2$, then there exist only one Mersenne prime $7 = 2^3 - 1$ satisfying (1).

Remark 1.3. In fact, if $M_p > 3$ then $2^p + 1 \equiv 0 \pmod{3}$ and $M'_p = \frac{2^p+1}{3}$ is a positive integer. Therefore, if $M_p > 3$ then Theorem 1.2 is a special case that satisfies Question 1.1. If $i = 0$ in Theorem 1.2, then $M_p = 127, 8191, 524287, 2147483647, 2305843009213693951, \dots$. If $i = 1$ in Theorem 1.2, then $M_p = 31, 131071, 618970019642690137449562111, \dots$.

2. Proof of Theorem 1.2

To prove Theorem 1.2, the result of Lemma 2.8 is necessary. Therefore, we prove this first. There are various ways to prove the relation between the binomial coefficient and the divisor function. In this section, we demonstrate four polynomials and recurrence relations. Lemma 2.8 and the inner result of [3, 0.152] are the same, but the proof is different. We assume that $n(\geq 3)$, m , t and k are positive integers, unless otherwise specified. We define a sequence

$(a_k(n))_{1 \leq k \leq 2n+1}$ and polynomials $F(x, n)$, $G(x)$, $H(x, n)$, $\Gamma(x, n)$, as follows:

$$a_k(n) := \begin{cases} \binom{2n+1}{1} & k = 1, \\ -\binom{2n+1}{2} + 2a_1(n) & k = 2, \\ \binom{2n+1}{3} - 2a_1(n) + 2a_2(n) & k = 3, \\ (-1)^{k-1} \binom{2n+1}{k} + a_{k-3}(n) - 2a_{k-2}(n) + 2a_{k-1}(n) & 4 \leq k \leq 2n-1, \\ -\binom{2n+1}{2n} + a_{2n-3}(n) - 2a_{2n-2}(n) & k = 2n, \\ a_{2n-2}(n) & k = 2n+1 \end{cases} \quad (2)$$

and $F(x, n) := (x-1)^n - x^n + 1$, $G(x) := x^3 - 2x^2 + 2x - 1$, $H(x, n) := -\sum_{k=1}^{2n-2} a_k(n)x^{2n-2-k}$, $\Gamma(x, n) := -(a_{2n-1}(n)x^2 + a_{2n}(n)x + a_{2n+1}(n))$.

Lemma 2.1. *Let $n \geq 3$ be an integer. Then*

$$F(x, 2n+1) = G(x)H(x, n) + \Gamma(x, n). \quad (3)$$

Proof. It is obtained by comparing the coefficients of both sides in (3). \square

To investigate some properties of the sequence $(a_k(n))$, we introduce a sequence $(b_k(n))_{3 \leq k \leq 2n+1}$ as follows:

$$b_k(n) := (-1)^{k-1} \left(\binom{2n+1}{k} - 2 \binom{2n+1}{k-1} + 2 \binom{2n+1}{k-2} - \binom{2n+1}{k-3} \right). \quad (4)$$

The following Lemma 2.2 is derived from the symmetric property of binomial coefficients, that is, $\binom{m}{t} = \binom{m}{m-t}$ for $0 \leq t \leq m$.

Lemma 2.2. *Let $1 \leq t \leq 2n-3$. Then $b_{(2n+1)-t}(n) = -b_{3+t}(n)$. In particular, $b_{n+2}(n) = 0$.*

Lemma 2.3. *Let $4 \leq k \leq 2n-1$. Then*

$$b_k(n) = \begin{cases} a_k(n) & 4 \leq k \leq 6, \\ a_k(n) - a_{k-6}(n) & 7 \leq k \leq 2n-1. \end{cases} \quad (5)$$

Proof. This lemma is proved by using the induction on k . \square

Lemma 2.4. *Let $n \geq 3$ be a positive integer. Then*

$$\begin{aligned} (a) \quad & a_{2n-2}(n) = a_{2n+1}(n) = 0, \\ (b) \quad & a_{2n-1}(n) = -a_{2n}(n). \end{aligned}$$

Proof. Note that $F(x, 2n+1) = F(1-x, 2n+1)$ for all positive integers n . By Lemma 2.1, we have that

$$F(1-x, 2n+1) = G(1-x)H(1-x, n) + \Gamma(1-x, n). \quad (6)$$

Expand the right-hand side of (6) then we obtain

$$G(1-x)H(1-x, n) + \Gamma(1-x, n) =$$

$$x(x^2 - x + 1) \left(\sum_{k=1}^{2n-2} a_k(n)(1-x)^{2n-2-k} \right) - (a_{2n-1}(n)x^2 - (2a_{2n-1}(n) + a_{2n}(n))x + a_{2n-1}(n) + a_{2n}(n) + a_{2n+1}(n)). \quad (7)$$

Hence, the constant term of $F(1-x, 2n+1)$ is $a_{2n-1}(n) + a_{2n}(n) + a_{2n+1}(n)$. By the definition of $F(x, 2n+1)$, we obtain

$$F(0, 2n+1) = a_{2n-1}(n) + a_{2n}(n) + a_{2n+1}(n) = 0. \quad (8)$$

On the other hand, if we substitute x to 1 in (7), then we have

$$a_{2n+1}(n) = a_{2n-2}(n) = 0. \quad (9)$$

By (8) and (9),

$$a_{2n-1}(n) + a_{2n}(n) = 0.$$

□

It is well-known [6, p.315] that

$$\binom{m}{t} + \binom{m}{t+1} = \binom{m+1}{t+1} \text{ for } 0 \leq t \leq m.$$

Using the Pascal's rule, we obtain

Lemma 2.5. *Let n be a positive integer with $n \geq 4$. If $6 \leq k \leq 2n-1$ then*

$$b_k(n) = b_k(n-1) - 2b_{k-1}(n-1) + b_{k-2}(n-1). \quad (10)$$

Lemma 2.6. *If n is a positive integer then*

$$a_{2n}(n) = -a_{2n-1}(n) = \begin{cases} -3 & \text{if } n \equiv 1 \pmod{3}, \\ 0 & \text{otherwise.} \end{cases}$$

Proof. By (2) and Lemma 2.4, we have that $a_{2n}(n) = -\binom{2n+1}{2n} + a_{2n-3}(n)$ and

$$\begin{aligned} a_{2n-1}(n) &= \binom{2n+1}{2n-1} + a_{2n-4}(n) - 2a_{2n-3}(n) \\ &= \binom{2n+1}{2n-1} + a_{2n-4}(n) - 2 \left(a_{2n}(n) + \binom{2n+1}{2n} \right). \end{aligned} \quad (11)$$

(2) and (11) imply

$$a_{2n}(n) = \binom{2n+1}{2n-1} - 2 \binom{2n+1}{2n} + a_{2n-4}(n) = -a_2(n) + a_{2n-4}(n). \quad (12)$$

To prove this lemma, we compute $a_{2n-4}(n)$ for three cases $n \equiv 0, 1, 2 \pmod{3}$.

First, we consider the case for $n \equiv 0 \pmod{3}$. It is divided into $n \equiv 0, 3 \pmod{6}$. Let $n = 6m$ with $m \geq 1$. Then, by Lemma 2.2 and 2.3, we have that

$$a_{2n-4}(n) = a_{12m-4}(6m) = a_2(6m) + \sum_{t=1}^{2m-1} b_{6t+2}(6m)$$

$$= a_2(6m) + \sum_{t=1}^{m-1} b_{6t+2}(6m) + \sum_{t=m+1}^{2m-1} b_{6t+2}(6m) = a_2(6m).$$

It is readily checked that $\sum_{t=m+1}^{2m-1} b_{6t+2}(6m) = -\sum_{t=1}^{m-1} b_{6t+2}(6m)$ by using Lemma 2.2 and 2.3. Combining (12) and $a_{12m-4}(6m) = a_2(6m)$ leads to $a_{12m}(6m) = 0$. Similarly, we can verify that $a_{12m+2}(6m+3) = a_2(6m+3)$ and $a_{12m+6}(6m+3) = 0$. Thus, if $n \equiv 0 \pmod{3}$, then

$$a_{2n}(n) = a_{2n-1}(n) = 0. \quad (13)$$

Next, consider the case for $n \equiv 1 \pmod{3}$. It is also divided into $n \equiv 1, 4 \pmod{6}$. The Proofs of case $n \equiv 1 \pmod{6}$ and case $n \equiv 4 \pmod{6}$ are almost identical. So we will check only the case for $n \equiv 1 \pmod{6}$. Let $n = 6m + 1$ with $m \geq 1$. Then, by Lemma 2.3 and 2.5, we have

$$\begin{aligned} a_{2n-4}(n) &= a_{12m-2}(6m+1) = a_4(6m+1) + \sum_{t=1}^{2m-1} b_{6t+4}(6m+1) \\ &= a_4(6m+1) + \sum_{t=1}^{2m-1} (b_{6t+4}(6m) - 2b_{6t+3}(6m) + b_{6t+2}(6m)). \end{aligned}$$

By Lemma 2.3, $\sum_{t=1}^{2n-1} b_{6t+4-j}(6n+1) = a_{12n-(j+2)}(6n) - a_{4-j}(6n)$ for $j = 0, 1, 2$. Thus, the following holds that

$$\begin{aligned} a_{12m-2}(6m+1) &= a_4(6m+1) + (a_{12m-2}(6m) - a_4(6m)) \\ &\quad - (2a_{12m-3}(6m) - 2a_3(6m)) + (a_{12m-4}(6m) - a_2(6m)) \\ &= a_4(6m+1) + (a_{12m-4}(6m) - 2a_{12m-3}(6m)) \\ &\quad - a_4(6m) + 2a_3(6m) - a_2(6m). \end{aligned}$$

By (2) and Lemma 2.4,

$$a_{12m-1}(6m) = \binom{12m+1}{12m-1} + a_{12m-4}(6m) - 2a_{12m-3}(6m) = 0.$$

Hence we have that

$$a_{12m-2}(6m+1) = a_4(6m+1) - \binom{12m+1}{2} - a_4(6m) + 2a_3(6m) - a_2(6m). \quad (14)$$

From (12), (14) and Lemma 2.3, we obtain

$$\begin{aligned} a_{12m+2}(6m+1) &= -a_2(6m+1) + a_{12m-2}(6m+1) \\ &= -a_2(6m+1) + a_4(6m+1) - \binom{12m+1}{2} \\ &\quad - a_4(6m) + 2a_3(6m) - a_2(6m) \\ &= -\binom{12m+3}{1} - \binom{12m+3}{2} + 2\binom{12m+3}{3} - \binom{12m+3}{4} \end{aligned}$$

$$+ \binom{12m+1}{1} - 2 \binom{12m+1}{2} + \binom{12m+1}{4} = -3.$$

Thus, if $n \equiv 1 \pmod{3}$, then

$$a_{2n}(n) = -a_{2n-1}(n) = -3. \quad (15)$$

Finally, let $n = 6m + 2$ with $m \geq 1$. Then, by Lemma 2.3, 2.4 and 2.5, we have

$$\begin{aligned} a_{2n-4}(n) &= a_{12m}(6m+2) = \sum_{t=1}^{2m} b_{6t}(6m+2) \\ &= \sum_{t=1}^{2m} (b_{6t}(6m+1) - 2b_{6t-1}(6m+1) + b_{6t-2}(6m+1)) \\ &= -2a_{12m-1}(6m+1) + a_{12m-2}(6m+1). \end{aligned} \quad (16)$$

By (15),

$$a_{12m+1}(6m+1) = \binom{12m+3}{12m+1} + a_{12m-2}(6m+1) - 2a_{12m-1}(6m+1) = 3. \quad (17)$$

Combine (12), (16) and (17) then we have

$$\begin{aligned} a_{12m+4}(6m+2) &= -a_2(6m+2) + 3 - \binom{12m+3}{2} \\ &= -\binom{12m+5}{2} + 2\binom{12m+5}{1} + 3 - \binom{12m+3}{2} = 0. \end{aligned}$$

Similarly, we can compute $a_{12m+10}(6m+5) = 0$. This completes the proof. \square

Lemma 2.7. *Let $n \equiv 0, 2 \pmod{3}$. If $1 \leq k \leq n$, then $a_k(n) = a_{2n-2-k}(n)$.*

Proof. Let $n \equiv 0, 2 \pmod{3}$. By (2) and Lemma 2.6, we obtain

$$a_{2n}(n) = -\binom{2n+1}{2n} + a_{2n-3}(n) - 2a_{2n-2}(n) = 0.$$

It induces that $a_{2n-3}(n) = \binom{2n+1}{1} = a_1(n)$. Similarly, we have $a_{2n-4}(n) = a_2(n)$ and $a_{2n-5}(n) = a_3(n)$. To use the mathematical induction, suppose that, for fixed $k \geq 3$,

$$a_{2n-2-k}(n) = a_k(n), \quad a_{2n-1-k}(n) = a_{k-1}(n), \quad a_{2n-k}(n) = a_{k-2}(n).$$

By (2), we obtain

$$a_{2n-k}(n) = (-1)^{2n-1-k} \binom{2n+1}{2n-k} + a_{2n-3-k}(n) - 2a_{2n-2-k}(n) + 2a_{2n-1-k}(n)$$

and

$$a_{2n-3-k}(n) = (-1)^k \binom{2n+1}{k+1} + a_{k-2}(n) - 2a_{k-1}(n) + 2a_k(n) = a_{k+1}(n).$$

\square

Lemma 2.8. *Let n be a nonnegative integer. If $i = 0, 1, 2$ then*

$$\sum_{t=0}^n \binom{6n+3+2i}{3t+i} = \sigma_2(2^{3n+i}). \quad (18)$$

Furthermore, $\sum_{t=0}^n \binom{6n+7}{3t+2} = 5 \sum_{t=0}^n \binom{6n+5}{3t+1} - 4 \sum_{t=0}^n \binom{6n+3}{3t}$.

Proof. By Lemma 2.2, 2.3 and 2.4, the following holds, for $n \geq 1$,

$$\begin{aligned} a_{12n-2}(6n) &= \sum_{t=0}^{2n-1} b_{4+6t}(6n) = \sum_{t=0}^{n-1} b_{4+6t}(6n) - \sum_{t=0}^{n-1} b_{6+6t}(6n) \\ &= \sum_{t=0}^{n-1} \left[\binom{12n+1}{6t+6} - 2 \binom{12n+1}{6t+5} + \binom{12n+1}{6t+4} \right] \\ &\quad + \sum_{t=0}^{n-1} \left[\binom{12n+1}{6t+3} - 2 \binom{12n+1}{6t+2} + \binom{12n+1}{6t+1} \right] \\ &= \sum_{t=1}^{6n} \binom{12n+1}{t} - 3 \sum_{t=1}^{2n} \binom{12n+1}{3t-1} \\ &= (2^{12n} - 1) - 3 \sum_{t=0}^{2n-1} \binom{12n+1}{3t+2} = 0. \end{aligned}$$

Thus, we have $2^{12n} - 1 = 3 \sum_{t=0}^{2n-1} \binom{12n+1}{3t+2}$. Similarly, if we compute $a_{12n+4}(6n+3)$, then we obtain $2^{12n+6} - 1 = 3 \sum_{t=0}^{2n} \binom{12n+7}{3t+2}$. By combining them, we have

$$3 \sum_{t=0}^{n-1} \binom{6n+1}{3t+2} = 2^{6n} - 1, \quad \sum_{t=0}^{n-1} \binom{6n+1}{3t+2} = \sigma_2(2^{3n-1}). \quad (19)$$

If we apply the Pascal's rule to the second of (19), then we have

$$\begin{aligned} \sigma_2(2^{3n-1}) &= \sum_{t=0}^{n-1} \binom{6n+1}{3t+2} = \sum_{t=0}^{n-1} \left[\binom{6n-1}{3t+2} + 2 \binom{6n-1}{3t+1} + \binom{6n-1}{3t} \right] \\ &= \sum_{t=0}^{3n-1} \binom{6n-1}{t} + \sum_{t=0}^{n-1} \binom{6n-1}{3t+1}. \end{aligned}$$

Since $\sum_{t=0}^{3n-1} \binom{6n-1}{t} = 2^{6n-2}$ and $\sigma_2(2^{3n-1}) = \sigma_2(2^{3n-2}) + 2^{6n-2}$, we obtain $\sum_{t=0}^{n-1} \binom{6n-1}{3t+1} = \sigma_2(2^{3n-2})$. Repeat the above method again then we have $\sum_{t=0}^{n-1} \binom{6n+3}{3t} = \sigma_2(2^{3n-3})$. Using [7, p.26], the final result of Lemma 2.8 can be easily obtained. \square

Proof of Theorem 1.2

The case of $M_p = 3, 7$ was shown in introduction. Therefore, we assume that $M_p > 7$. It is well-known that $\sigma_2(2^{3n+i}) = (2^{3n+1+i} - 1) \left(\frac{2^{3n+1+i} + 1}{3} \right)$. If $i = 2$ and $n \geq 1$ then $2^{3n+1+i} - 1$ is not a prime which is divided by 7. For the case

of $i = 0$ or 1 , if a Mersenne prime $2^p - 1$ is given, then it is possible to find a positive integer n which $3n + 1 + i = p$ is a prime number. Thus, for a given $M_p > 3$, we can find integers n and i such that $M_p = 2^p - 1 = 2^{3n+1+i} - 1$. This completes the proof of Theorem 1.2. \square

Question 2.9. *It is a famous conjecture that Mersenne primes are infinite [2]. For the question of the number of extended Mersenne primes, see [5]. From Table 1, given M'_p are all prime numbers. From this, we raise the question of whether the number of primes M'_p is infinite or not.*

REFERENCES

1. L.E. Dickson, *History of the theory of numbers. Vol. I: Divisibility and primality*, Cresse Chelsea Publishing Co., New York, 1966.
2. R.K. Guy, *Unsolved Problems in Number Theory*, 3rd ed., Springer, New York, 2004.
3. I.S. Gradshteyn and I.M. Ryzhik, *Table of integrals, series, and products*, Academic press, 2014.
4. D. Kim and A. Bayad, *Polygon Numbers Associated with the Sum of Odd Divisors Function*, Exp. Math. **26** (2017), 287-297.
5. D. Kim and A. Bayad, S. Park, *Iterated stable numbers and iterated amicable pairs*, To appear in Math. Meth. Appl Sci. doi.org/10.1002/mma.7555.
6. J.H. Silverman, *A friendly introduction to number theory*, Pearson, 2012.
7. K.S. Williams, *Number theory in the spirit of Liouville. Vol. 76*. Cambridge University Press, 2011.

Gye Hwan Jo is currently a M.S. student at Jeonbuk National University. His research interests focus on number theory.

Department of Mathematics and Institute of Pure and Applied Mathematics, Jeonbuk National University, 567 Baekje-daero, Deokjin-gu, Jeonju-si, Jeollabuk-do, 54896, Republic of Korea.

e-mail: johh1986@hanmail.net

Daeyeoul Kim received Ph.D. degree from Jeonbuk National University. His research interests focus on number theory.

Department of Mathematics and Institute of Pure and Applied Mathematics, Jeonbuk National University, 567 Baekje-daero, Deokjin-gu, Jeonju-si, Jeollabuk-do, 54896, Republic of Korea.

e-mail: kdaeyeoul@jbnu.ac.kr